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1. India has entered into an MoU with which university to conduct research on Tamil language and

culture?
(A) University of Houston (B) University of Oxford
(C) Harvard University (D) Yale University

(E) Answer not known

SIp Quomypl, seon&sID GHSSH ey GLHESTETET 61hG LISHEMEVSHSHPSSHSHIL 0T ShHlwim
Lfibgieooniey QUILKESID GomHaSTesIT(BeTaTg] ?

(A) 6L 60T LIBDSEM6VS SHLPSHLD (B) ay&enGuUIT(® L6L&HEMEVS SLPSHLD

(C) ammTeuiL L6L&HemeVE SHLPSLD (D) Guied LIBLEHEMEVS SHLPSHLD

(E) eflemL e1gflweilsbemen

2. Who is known as Varaganeri Singham?
(A) VVS lyer (B) Subramania Sive
(C) v.OC (D) Neelakanda Brahmachari
(E) Answer not known
auTsGeurfl FrbiHD 6T60TM)| SHeMLPSSLILIBLIOUT WM ?
(A) VVS sy (B) aimoevoflw dleur
(C) sue_d (D) BevasevorL 1Nmo&ant]
(E) eflemL e\gflweilsbemen

3. Central Inteligence Agency was established on whose recommendation in which year?
(A) Santhanam Committee 1963
(B) Sivaraman committee 1963
(C) Santhanam Committee 1964
(D) Sivaraman committee 1964
(E) Answer not known
WSS  Leveotmiiley —SemoliLmers  wn@emLwl  ufibgemguiedt LG ebh®  Spevor(d
SIEMDSHSLILILL & ?
(A) spBMEOTD G(p 1963
(B) fleummoeor 1963
(C) sip@mennd &(p 1964
(D) Heunmoedr 1964
(E) eflemL a\giflieflsbemev

4. In which year was the 6" Zonal Committee formed?
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(A) 1969 (B) 1970 (C) 1971 (D) 1972
(E) Answer not known

6618 LOEOUTL V&S (LY 6Th Syevor(B CoHmpmeiiGasLILL LS ?

(A) 1969 (B) 1970 (C) 1971 (D) 1972
(E) eflemL a\giflwedlebemev

5. Which year was FIT INDIA program launched?
(A) 2018 (B) 2019 (C) 2020 (D) 2021
(E) Answer not known
FIT INDIA £l LD 6mhs 46001(B OSNLTRISLILLL&)?
(A) 2018 (B) 2019 (C) 2020 (D) 2021
(E) eflemL a\gflielebemev

6. Which country first forwarded the concept of Free and Open Indo—Pacific (FOIP)?
(A) India (B) USA
(C) Australia (D) Japan
(E) Answer not known
@eveus HMID Hmse @HEsT-LHNS (FOIP) er6dim SHSHemS 61hd BB (LSl Fnmiwig ?
(A) @bHwim (B) sseworfls s
(C) apendlGaeSiwim (D) ggiimedt
(E) eflemL a\gflielebemev

7. The famous 'jellyfish lake' is located in—
(A) Vanuatu island (B) Palau island
(C) Bora Bora island (D) Hawaii islands
(E) Answer not known
yaLpaumm '61ge0601560T erifl' 6ThI® SiemLomHE 6T ?
(A) sugnieun’ (B Sey (B) uevrey Sey
(C) Gumgm Gumgm Sey (D) emeumis Seyseit
(E) elemL egifleflebemev

8. 'Kotia village is often in news due to a territorial dispute between:
(A) Assam and Meghalaya (B) Assam and Arunachal Pradesh
(C) Andhra Pradesh and Telangana (D) Andhra Pradesh and Odisha
(E) Answer not known
'Camliiguwin’ HImob sl eFLglsefled @b sai6Tens , 88 ehs E LnBlevrkis ehéd
BenLCw Nrssementéd® 2 fl uGHwng 2_ereng| ?
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(A) a15mb HmID GLosmeowim (B) &i&mid WHmIDb Sipevo&sen LTEsHsD

(C) opbdlom oHMID E\HEVITRISTEDTT (D) sybdlom opmid euq.&m WL BHEW
(E) eflemL 61siflwielebemen

9. This national park (NP) is located in Western Ghats. Its characteristics features include
montane vegetation and the unique Neelakurinji flowers. It has the largest viable population of
the endangered Nilgiri Tahr.

Which protected area is being described in this passage?

(A) Eravikulam NP (B) Silent Valley NP

(C) Waynad NP (D) Periyar NP

(E) Answer not known

@ng Cadl yisn (NP) Cong eSMLi&s] weneuled SIemLbEI6TeNg) . LDemeVS SHTEUNThHISET
b seoflGgieuner Bes&mlerd] weisHer pdliemer et ADLINe JIDEHISETTESLD.
aifbgeumD Beodifl euemmuinBaefler Wslaflw eretoreoollébemasemwt @& 6\&mesor(BeTeng.
@bs usHuled ehd LTFHISTSSILLL LGS efleufléssliLl (BeTens)?

(A) @uellgend Cadlw L hism (B) emsevevor Geuedl GoHat L s

(C) euwpn® Gl it (D) ewrflwmy Cadw L rkism

(E) eflemL a\gflielebemev

10. Consider following statements regarding India's Reusable Launch Vehicle- Technology
Demonstration (RLV-TD) programme
1. It is an indigenously developed technology of DRDO.
2. RLV-TD configuration is a mix of a civilian aircraft and a space launch vehicle.
3. In this programme, for the first time in the world, a winged body has been carried to an
altitude of 4.5 km by helicopter and released for carrying an autonomous landing on a runway.
Which of the above statements are correct?
(A)1& 2 only (B) 2 & 3 only
(C)1& 3 only D)1,2&3
(E) Answer not known
@ndlwnefledr wmLWIOTUTL(H 6unseT-asmplemL L eflerds (RLV-TD) HLLD esmiTumeot
NeoTeU(HLD SIM&HEmSHHEMENE &6)6Uf Ik &H6IT
1. 851 1upmgeeileor 2 aThHTICGW 2 HeunssLULLL OSMLHEVHILLLDTESLD.
2. RLV-TD sLLemloll eredtug dedleSiweor eXlomeond wmmid ellesoraieuer] ereysed eunseotd
SHEWIEUDDIE0T &H6VEMEULIMELD.
3. @bs FH L6, 2 _wdHBaGBIL (PHETIPEDDUINS, @NEHNHEHET ST 2 L6 4.5 &b
2 upsHHHG amedsmiLy cpeld esmeorB 6FeLULB, BuTenSHUied &g
SeoruiphiGeusn&Ts el L &. Gon&etorL & hmniserfled erg siflwimerg?
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(A) 1 bOHMID 2 WL GBEW (B) 2,3 L BGw
(C) 1wommo 3 WLGBEW (D)1, 2 bOHMID 3
(E) eflemL a\gifledlebeme
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ANSWER KEY

1 2 3 4 5
A A A C B
6 7 8 =) 10
D B D A B
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